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PiecewiseFunction Answers for No.8765

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 f(x) | 9 | 8 | 7 6 | 5 | 4 | 3| 2 11 0 | 5 | 71 9 | 11 | 13 | 15 | 17 | 19 | 21 | 23 | 25 |
Ans02 : f(x)| 3 3 | 3 3 | 3 3 | 3 3 | NA | 1| -1 1] NA | 6 | 7 8 | 9| 10| 11 | 12 | 13 | 14 |
Ans03
x—1 sox< -1
f(x):[ }
2x+1 ; x>=-]
f('l):3’ 7f(0):1’ af(l):'la ’f(2)2'3’ 7f(3):'5
Ans04
-1-x ; x<=-2
f(x)={2x-1 ; -2 <x<3
5 s x>=3
f(-2)=1, ,f(-)=-3, ,f()=1, ,f(2)=3, ,f(3)=5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-11 | -2 | 1 1 1 | Discontinuous |
2 4 | 2 4 | DNE | Discontinuous |
3 5 | 3] 3 3 | Discontinuous |
7 5 | 3 3] 3 | Discontinuous |
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DGR D 6:0.6:0:0.0:0.::0:0.6:0:0.0:0.:0:0:0.0:0:0:0:0.0:0:0.0:0:0:0:0.0:0.0.0:0.°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.00.0.0:0.0:0:0.6:0.0.0:0.:0:0.0:0.0:0:0.0.0.0.0.0.0:0:0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.6:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA [ LA N L1 Je 102579 ¢
PiecewiseFunction Answers for No.8767

x| -101] -9 -8 -7 =61 -5 =41 =3 =21 =11 0] 11 21 31 41 5] 61 71 8 | 9 1 10 |
Ans01 : f(x)| 19 | 17 | 15 | 13 | 11 | 9 | 7 5 3| 1 -1 | -3 | -5 | =7 | 0 | 1| 2 | 3 4 | 5 | 6 |
AnsO2 : f(x)| -8 | -7 -6 | -5 -4 | -3 | =2 3 | i1/ -1 =31 =5 =71 =710 =711 =71 =71 =71 =71 =71 =71
Ans03
2—-x ; x<1
f(x):[ }
2x+1 ; x> 1
f(-l):37 3f(1):NA’ 7f(2):5’ 7f(3):7> ’f(4):9
Ans04
7 N x<=-3
f(x)={2x+1 ; -3 <x<2
x—1 N x>=2
f(-4)=7, ,f(-3)=7, ,f(0)=1, ,f(1)=-1, ,f(2)=1
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-7 | 2 | 2 | 2 | 2 | Continuous
7 5 | 3] 3 3 | Discontinuous |
11 | 1] 1 1 1 | Continuous
12 | 3 3 3 3 | Continuous
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DGR D 6:0.6:0:0.0:0.:0:0:0.6:0:0.0:0.:0:0:0.0:0:0:0:0.0:0:0.0:0:0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.:0.:0.0:0.0:0:0.0 0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA LI T [ LA N R eI Je [0} 5704
PiecewiseFunction Answers for No.8768

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -15 | =13 | -11 | -9 | =7 | -5 | -3 | -1 | 4 | 3| 2 1 0 | -1 | -2 | -3 | -4 | -5 | -6 | =7 -8 |
Ans02 : f(x)| 5 | 5 | 5 | 5 | 5 | 5 | 5 | 5 | 5 | 5 | 3] 10 -1 | 0 | 1] 2 | 3 4 | 5 | 6 | 71
Ans03
2x-2 ; x< -2
f(x)z[
x+1 ;x> -2
f(-3)=4, ,f(-2)=N4, ,f(-1)=0, ,f(2)=3, ,f(3)=4
Ans04
x—2 : x< -1
f(x)= -3 ;-1 <x<=3
2x+2 x> 3
f(-2)=-4, ,f(-1)=N4, ,f(0)=-3, ,f(1)=-3, ,f(3)=-3
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -7 | 2 | 2 | 2 | 2 | Continuous
-5 |  undefined | 1 1 1 | Discontinuous |
-2 | 0 | 2 | 2] 2 | Discontinuous |
2 4 | 2 | 4 | DNE | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous
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PiecewiseFunction Answers for No.8779

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 f(x) | 7 6 | 5 | 4 | 3| 2 11 0 | -1 | -2 | -3 | -4 | 8 | 10 | 12 | 14 | 16 | 18 | 20 | 22 | 24 |
Ans02 : f(x)| 17 | 15 | 13 | 11 | 9 | 7 5 | 3 | 11 NA)| -4 -4 =31 -2 -11] 0 | 1] 2| 3 4 ] 5 |
Ans03
2x+3 ;o x< -2
f(x){
2—-x ; x>=-2
f('3):'37 ,f(-2)24, 7f(1):1’ 7f(2):0’ 7f(4):'2
Ans04
2-x x< -2
f(x)={2x+2 ; -2 <x<3
8 s x>=3
f(-4)=2, ,f(-2)=N4, ,f(0)=2, ,f(2)=6, ,f(3)=38
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -7 | 2 | 2 | 2 | 2 | Continuous
-2 | 0 | 2 | 2 | 2 | Discontinuous |
1 4 | 1] 1] 1 | Discontinuous |
9 | 4 | 1 1 1 | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous
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PiecewiseFunction Answers for No.9404

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -17 | -15 | =13 | -11 | -9 | =7 1 -5 | -3 | -1 | 1 3| 5 7 9 | -6 | =7 | -8 | -9 | -10 | -11 | -12 |
Ans0O2 : f(x)| 23 | 21| 19| 17 | 15 | 13 | 11 | 91 -6 -5 -4 -3 -2 | -2/ -2 -2 -2 =21 -2 =21 =21
Ans03
2x+2 ; x<1
f(x>=[
1l-x ; x>=1
f('4):'6’ 7f('2):'2’ ,f(-l)IO, ,f(l)IO, ’f(3):'2
Ans04
0 N x< -1
fix)={2x-2 ,; -1 <x<1
3+x x> 1
f(-4)=0, ,f(-1)=N4, ,f(1)=N4, ,f(2)=-1, ,f(3)=0
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-10 | 1 2 | 2 | 2 | Discontinuous |
-8 | undefined | 2 2] 2 | Discontinuous
-7 | 2 2 | 2 | 2 | Continuous
-5 | undefined | 1] 1] 1 | Discontinuous |
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DGR SR D'6:0.6:0:0.0:0.:0:0:0.6:0:0.0:0.:0:0:0.0:0:0:0:0.0:0:0.0:0.0:0:0.0:0.0.0:0.°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0.:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.6:0.0.0:0.0:6:0.0 ¢ | [ YA LT [ LA N R 010 Je [0 1) ¢
PiecewiseFunction Answers for No.9440

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -19 | -17 | -15 | =13 | -11 | -9 | =7 | -5 | -3 | -1 | 11 3 5 | -6 | -7 -8 | -9 | =10 | -11 | -12 | -13 |
Ans02 : f(x)| 9 | 8 | 7 6 | 5 | 4 | 3 | 2 | 1| 7 7 7 9 | 11 | 3 | 51 17 | 19| 21 | 23 | 25|
Ans03
2-x ; x<=2
f(x)=[
2x+3 ; x> 2
f('3):1’ ,f(-2):0, ’f(l):'3’ ,f(2)2-4, ’f(3):9
Ans04
2x+2 x<=-]
fix)={ 2—-x ; -1 <x<1
1 N x>=1
f(-4)=-6, ,f(:3)=-4, ,f(-1)=0, ,f(1)=1, ,f(2)=1
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -10 | 1| 2 | 2 | 2 | Discontinuous
-3 |  undefined | infinity | infinity | infinity | Discontinuous |
1 4 | 1] 1] 1 | Discontinuous |
7 5 | 3] 3 3 | Discontinuous |
12 | 3 3 3 3 | Continuous
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DGR D 6:0.6:0:0.0:0.0:0:0.6:0:0.0:0.:0:0:0.0:0:0:0:0.0:00.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:0:0.0:0.0:0:0.0 0.0.0.0.0:0:0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.6:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA LT [ LA N R I Jo [0 lD7 04
PiecewiseFunction Answers for No.9474

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 15 | 14 | 13 | 12 | 11 | 10 | 9 | 8 | 0 | 2 4 | 6 | 8 | 10 | 12 | 14 | 16 | 18 | 20 | 22 | 24 |
Ans0O2 : f(x)| 21| 19 | 17 | 15 | 13 | 11 | 9! -8 -7 -6 -5 -4 -3 | NA| -2 -2 | =21 =21 =21 =21 =2
Ans03
2x+2 ; x<=2
f(x>=[
2-x ; x> 2
f(-3)=-4, ,f(-2)=-2, ,f(1)=4, ,f(2)=6, ,f(3)=-5
Ans04
—1-x x< -2
fix)=]2x-1 , -2 <x<=2
3 N x> 2
f(-4)=3, ,f(-2)=N4, ,f(-1)=-3, ,f(2)=3, ,f(4)=3
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-10 | 1 2 | 2 | 2 | Discontinuous |
-5 | undefined | 1] 1| 1 | Discontinuous |
7 5 | 3] 3 3 | Discontinuous |
9 | 4| 1] 1 1 | Discontinuous |
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DGR SR D'6:0.6:0:0.0:0.:0:0:0.6:0:0.0:0.:0:0:0.0:0:0:0:0.0:0:0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.6:0.0:0:9.0:0.0.0:0.0:6:0.0:¢ | (YA LT [ LA N LA 010 Lo [0 15D 04
PiecewiseFunction Answers for No.9607

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 23 | 21 | 19 | 17 | 15 | 13 | 11 | 9 | 7 5 -1 | 0 | 11 2 3 4 | 5 | 6 | 7 8 | 9 |
Ans0O2 : f(x)| 19 (| 17 | 15 | 13 | 11 | 9 | 7 5 | 31 =31 =21 -1 0 | 0 | 0 | 0 | 0 | 0| 0 | 0 | 0 |
Ans03
2x+2 ; x<=2
)=
-1-x ; x>2
f('3):'47 ,f(-l):(), 7f(1):4’ 7f(2):6’ 7f(4):'5
Ans04
-5 ; x< -3
fix)=| x=-2 ; -3<=x<=1
2x+3 x> ]
f(-4)=-5, ,f(:3)=-5 ,f(l)=-1, ,f(2)=-1, ,f(3)=-3
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -10 | 1| 2 | 2 | 2 | Discontinuous
-4 | 2 | 2 | 2 | 2 | Continuous
3 1 5 | 3 3] 3 | Discontinuous |
5 | 2 2 | 2 | 2 | Continuous
9 | 4| 1 1 1 | Discontinuous |
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DGR R D'6:0.6:0:0.0:0.:0:0.6:0:0.0:0:0:0:0.0:0:0:0:0.0:0:0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.9.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.6:0.0:0:9.0:0.0.0:0.0:6:0.0 ¢ | (YA LT [ LA N R 010 Je [0 1°) 0 ¢
PiecewiseFunction Answers for No.9965

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 19 | 17 | 15 | 13 | 11 | 9 | 7 5 3| 1 -1 | -3 | -5 | 2 3 4 | 5 | 6 | 7 8 | 9 |
Ans02 : f(x)| -8 1| -7 -6 1] -5 -4 1] -3 | =21 -11] 0 | i1/ -4 -6 -6| -6 -6| -6 -6| -6/] -6/ -61] -6
Ans03
x+3 ; x<=-2
f(x):[ }
2x+2 ; x> -2
f(-3)=6, ,f(-2)=5, ,f(-1)=0, ,f(0)=2, ,f(2)=6
Ans04
x—2 : x< -1
f(x)= -3 ;, -l<=x<3
2x+3 x> 3
f(-4)=-6, ,f(-1)=-3, ,f(1)=-3, ,f(2)=-3, ,f(3)=N4
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -5 | undefined | 1] 1] 1 | Discontinuous |
1 | 4 | 1 1 1 | Discontinuous |
3 1 5 | 3 3] 3 | Discontinuous |
5 | 2 2 | 2 | 2 | Continuous
10 | 0 | 0 | 0 | 0 | Continuous
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DGR SR D'6:0.6:0:0.0:0.:0:0:0.6:0:0.0:0.:0:0:0.0:0:0:0:0.0:0:0.0:0.0:0:0.0:0.0.0:0.°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.6:0.0.6:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA LT[ LA N R I O h N0) 94
PiecewiseFunction Answers for No.10186

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 f(x)| -22 | =20 | -18 | -16 | -14 | -12 | =10 | -8 | -6 | -4 | -2 | 0 | -4 | -5 | -6 | =7 | -8 | -9 | =10 | =11 | -12 |
Ans02 : f(x)| 5 | 4 | 3 2 | 1| o| -1 NA| =71 =51 =31 -1/ 1| 3 | 3 | 3 | 3 | 3 | 3 | 3 | 3
Ans03
2x-1 ,; x<2
f(x){
x+1 ;ox>=2
f('3):5a ’f('l):la 7f(2):3’ 7f(3):4’ af(4):5
Ans04
-1 ; x< -3
fix)=| x+2 ; -3<=x<=2
2x-2 x> 2
f(-4)=-1, ,f(-3)=-1, ,f(-2)=0, ,f(2)=4, ,f(4)=-10
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-2 | 0 | 2 | 2 | 2 | Discontinuous |
5 | 2 2 2] 2 | Continuous
9 | 4 | 1 1 1 | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous
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DGR D’ 6:0.6:0:0.0:0.:0:0:0.6:0:0.0:0.:0:0:0.0:0.:0:0:0.0:0:0.0:0.0:0:0.0:0.0.0:0.°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.00.0.0:0.0:0:0.6:0.0.0:0.:0.:0.0:0.0:0:0.0 0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.6:0.0.0:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA LI [ LA N LI O N D704
PiecewiseFunction Answers for No.10203

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 f(x)| -12 | -11 | -10 | -9 | -8 | =7 1 -6 | -5 | -4 | NA | 11 -1 | -3 | -5 | =7 | -9 | -11 | =13 | =15 | =17 | -19
Ans02 : f(x)| -5 -5| -5 -5| -5 -5 -5 -5 =3 ] -1/ 1/ NA)| -6 -7 =81 -9 -10 | -11 | -12 | -13 | -14 |
Ans03
2-x ; x<1
f(x)=[
2x-2 ; x>=1
f(-4)=2, ,f(-1)=-1, ,f(1)=0, ,f(2)=2, ,f(3)=4
Ans04
2x+3 x< -2
f(x)= 7 ;, 2<=x<2
x—1 N x> 2
f(-4)=11, ,f(-3)=9, .f(-2)=7, ,f(0)=7, ,f(2)=NA
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -7 | 2 | 2 | 2 | 2 | Continuous
-3 |  undefined | infinity | infinity | infinity | Discontinuous |
5 | 2 2 2] 2 | Continuous
9 | 4 | 1 1 1 | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous

X [Page = 0011] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXKXKXXXXXKXKXXXXXKXKXKXXXKXKXKXKXKXKXKKKXKXKXKKKXKXKXKKKX KX KKK KK KX KX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGR SR D’'6:0.6:0:0.0:0.:0:0:0.6:0:0.0:0.:0:0:0.0:0:0:0:0.0:0:0.0:0.0:0:0.:0.0.0:0.°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.:0.:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.6:0.0.0:0.0.0:9.0:0.0.0:0.0:6:0.0 ¢ | (YA LI [ LA N R I Lo i 725794
PiecewiseFunction Answers for No.10215

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -9 | -8 | =7 | -6 | -5 | -4 | -3 | -2 | -1 | | -1 | -3 | -5 | =7 1 -9 | -11 | -13 | =15 | =17 | -19 | =21
Ans02 : f(x)| 8 | 7 6 | 5 | 4 | 3 | 2 1 o1 -1 1] 3 | 5 | 7 7 7 7 7 7 7 7
Ans03
—1-x ,; x<1
f(x){
2x-3 ; x> 1
f(-4)=3, ,f(-2)=1, ,f(0)=-1, ,f(1)=N4, ,f(4)=5
Ans04
2-x x< -3
f(x)= 1 ;3 <x<1
2x+2 x> 1
f(-4)=2, ,f(:3)=N4, ,f(-1)=1, ,f0)=1, ,f(1)=NA
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -9 | 3 3 3 3 | Continuous
-4 | 2 | 2 | 2 | 2 | Continuous
-3 | undefined | infinity | infinity | infinity | Discontinuous |
11 | 1] 1 1 1 | Continuous
12 | 3 3 3 3 | Continuous

X [Page = 0012] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXXXKXKXKXKXXKXKXKXKXXXKXKXKXKXKXKXKXKXKXKXKXKKXKXKXKKKXKX KKK KKK XKXKKKXKX KX KKK KX KKK X KKK KX KX KKK KX KXKKKKXKXK



DGR RN 6:0.6:0:0.0:0.0:0:0.6:0:0.0:0.:0:0:0.0:0:0:0:0.0:0:0.0:0:0:0:0.0:0.0.0:0.°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.:0.6:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:0.:0.0:0.0:0:0.6 0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:6:0.0 ¢ | [ YA LT [ LA N LI JO N ) ¢
PiecewiseFunction Answers for No.10889

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -19 | -17 | -15 | =13 | -11 | -9 | =7 | -5 | -3 | -1 | 11 3 5 | 71 1] 0 | -1 | -2 | -3 | -4 | -5 |
Ans02 : f(x)| 5 | 4 | 3 2 | 1| ol -1 1 -2 NA| -3 1] -3 6 | 8 | 10 | 12 | 14 | 6 | 8 | 0o 22| 24 |
Ans03
2—-x ; x<2
f(x){
2x+1 ; x> 2
f(-3)=5 ,f(-2)=4, ,f(0)=2, ,f(2)=N4, ,f(4)=9
Ans04
8 N x< -3
f(x)={-2x+2 ; -3 <x<2
3+x x>=2
f(-3)=N4, ,f(-1)=4, ,f(0)=2, ,f(2)=-1, ,f(3)=0
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -10 | 1| 2 | 2 | 2 | Discontinuous
-3 |  undefined | infinity | infinity | infinity | Discontinuous |
9 | 4 | 1] 1| 1 | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous
11 | 1| 1] 1] 1 | Continuous

X [Page = 0013] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXXKXKXKXXKXXXKXKXXKXXXKXKXKXXXKXKXKXKXKXKXKXKKXKXKXKKKXKXKXKXKXKXKXKKKXKX KX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGR D 6:0.6:0:0.0:0.0:0:0.6:0:0.0:0.:0:0:0.0:0:0:0:0.0:0:0.0:0:0:0:0.0:0.0.0:0.°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.00.0.0:0.0:0:0.6:0.0.0:0.:0:0.0:0.0:0:0.0 0.0.0.0.0:0:0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.6:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA LI [ LA N R I O N /5794
PiecewiseFunction Answers for No.10981

x| -101] -9 -8 -7 =61 -5 =41 =3 =21 =11 0] 11 21 31 41 5] 61 71 8 | 9 1 10 |
Ans01 : f(x)| 22 | 20 | 18 | 16 | 14 | 12 | 10 | 8 | 0 | 1 2 3 4 | 5 6 | 7 8 | 9 | 10 | 11 | 12 |
AnsO2 : f(x)| -8 | -7 -6 | -5 -4 -3 | -2 1] -1 | NA | 4 | 2 0| 0 | 0| 01 0 | 01 0 | 0 | 0 | 0 |
Ans03
x+1 sox<=-1
f(x):[ ]
2x-3 ; x> -1
f(-1)=0, ,f(0)=-3, ,f(1)=-5, ,f(2)=-7, ,f(3)=-9
Ans04
2x-2 x<=-3
fix)=| 0 ; -3 <x<=3
—-x+3 x> 3
f(-4)=-10, ,f(-3)=-8, ,f(1)=0, ,f(3)=0, ,f(4)=-1
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-10 | 1 2 | 2 | 2 | Discontinuous |
-6 | 2 2 2] 2 | Continuous
5 | 2 2 | 2 | 2 | Continuous
12 | 3 3 3 3 | Continuous

X [Page = 0014] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXXXXKXXXXXKXXKXKXXKXXKXKXKXXKXXXKXKXKXKXKXKKKXKXKXKXKXKKXKXKXKKKXKX KKK KKK XKXK KKK XXX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGR R AD'6:0.6:0:0.0:0.:0:0:0.6:0:0.0:0.:0:0:0.0:0:0:0:0.0:00.0:0:0:0:0.0:0.0.0:0.°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.:0.6:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:0.:0.0:0.0:0:0.0 0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.6:0.0:0:0.6:0.0.0:0.0:6:0.0 ¢ | [ YA LT [ LA N LI Lo N ) ¢
PiecewiseFunction Answers for No.10996

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| =7 | -6 | -5 | -4 | -3 | -2 | -1 | 0 | 11 2 3| 2 0 | -2 | -4 | -6 | -8 | -10 | -12 | -14 | -16
Ans02 : f(x)| 15| 14 | 13 | 12 | 11 | 10 | 9 | 8 | -2 | 0 | 2 | 4 | 6 | 8 | 8 | 8 | 8 | 8 | 8 | 8 | 8
Ans03
x—1 sox<=-1
f(x):[ }
2x+2 ; x> -1
f(-3)=-4, ,f(-2)=-3, ,f(-1)=-2, ,f(0)=2, ,f(2)=-2
Ans04
2x+3 x< -3
fix)=} x+1 ; -3<=x<2
3 N x> 2
f(-4)=11, ,f(-3)=-2, ,f(0)=1, ,f(2)=N4, ,f(4)=3
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -9 | 3 3 3 3 | Continuous
-5 |  undefined | 1 1 1 | Discontinuous |
3 1 5 | 3 3] 3 | Discontinuous |
5 | 2 2 | 2 | 2 | Continuous
9 | 4| 1 1 1 | Discontinuous |

X [Page = 0015] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXXXKXKXKXKXXXKXKXXKXXXKXKXKXXKXKXKKKXKXKXKXKXKKXKXKXKKKXKXKXKKKX KX KKK KKK XXX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGR D 6:0.6:0:0.0:0.:0:0:0.6:0:0.0:0.:0:0:0.0:0:0:0:0.0:00.0:0:0:0:0.0:0.0.0:0.°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.:0.0.0:0.00.0.0.0.0:0:0.60.0.0:0.0:0.:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.6:0.0.0:0.0.0:9.6:0.0.0:0.0:6:0.0 ¢ | [ YA LT [ LA N R I O H ) ¢
PiecewiseFunction Answers for No.11386

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 f(x) | 13 | 12 | 11 | 10 | 9 | 8 | 7 6 | 5 | 4 | 3| 2 11 0 | 10 | 12 | 14 | 16 | 18 | 20 | 22 |
Ans02 : f(x)| 17 | 15 | 13 | 11 | 9 | 7 5 | 3 | NA | 1 1| 1 1| NA | -1 | 0| 1] 2| 3 4 ] 5 |
Ans03
2x+1 ; x<-2
f(x){
3+x ; x>=-2
f('4):9a ’f('3):7’ 7f('2):'5’ af(l):'za ,f(2):-1
Ans04
-3 ; x< -3
f(x)={2x+3 ; -3 <x<3
—x+3 x>=3
f(-4)=-3, ,f(:3)=N4, ,f(-1)=1, ,f(2)=7, ,f(3)=0
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -8 | undefined | 2 | 2 | 2 | Discontinuous
-7 | 2 | 2 | 2 | 2 | Continuous
-5 | undefined | 1] 1| 1 | Discontinuous |
-2 | 0 | 2 | 2 | 2 | Discontinuous |
1] 4| 1 1 1 | Discontinuous |
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D GRIEE R D:0:0:0:0:9:0.0:0.0:0.0:0:0:0.0:0.0:0.0:0:0.0.0:0:0.0.0:0.0.0.0:0.0.0.0:0:0.0.0:0.0.6.0:0.0.6.0:0:0.0.0:0:0.0.0:0:0.6.0:0:0:0.0:0:0.0.0:0.0.0.0:0.0.0.0:0.0.6.0:0:0.0.0:0.0.0.0:0.0.6.0:0:0.0.0:0.0.0.0:0.0.0.0:0.0.6.0:0.0.6.0:0.9:6.0:0:0:6.0:0.¢ ¢ (LY NEL YT L A NEL 0L [ N b ¢¢

X

PiecewiseFunction Answers for No.11394

x| -10 | -9 -8 =7 6 | -5 | -3 1 =21 -1 0 1 1 2| 3 4
Ans01 : f(x)| 25 | 23 | 21 | 19 7 15 | 11 | 9 | 71 5 | 3 11 -1 | -1
Ans02 : f(x)| 5 | 4 | 3] 2 1| 0 | NA | -2 | -2 | -2 | -2 | NA | 5 | 7
Ans03
2x+3 ; x<1
)=
1-x ; x>1
f(-3)=-3, ,f(-2)=-1, ,f(0)=3, ,f(1)=N4, ,f(2)=-1
Ans04
2x-1 ; x<=-1
fix)= 4 ;-1 <x< 2
x+2 N x> 2
f(-4)=7, ,f(-1)=1, ,f(0)=4, ,f(1)=4, ,f(2)=N4

a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |

-9 | 3 3 3 3 | Continuous

-8 | undefined | 2 2] 2 | Discontinuous

-4 | 2 2 | 2 | 2 | Continuous

5 2 2 | 2 2 | Continuous

[R:ECRESN N A D 0:0:0:0:0:0:0:0:0:0.0.0:0:0:0:0:0:0:0:0:0:0:0.0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0:0.0.0.0:0:0.0:0:0.0:0.0:0:0.0:0.0:0:0.0:0:0:0.0.0:0:0.0:0:0.0.0.0:0:0.0:0.0:0:0.0:0:0.0:0.0:0:0:0:0:0:0:0.0:0:0:0:0.0.0:0.0:0:0:0:0.0:0:0.0:0.0.0.0.0.0:0.0:0:0.0.0.0:0:0:0:0.0:0.0.0.:0.0.0.¢



DGR SR AD'6:0.6:0:0.0:0.:0:0:0.6:0:0.0:0.:0:0:0.0:0:0:0:0.0:0:0.0:0:0:0:0.0:0.0.0:0.°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.:0.:0.0:0.0:0:0.0.0.0.0.0.0:0:0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.6:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA LT [ LA N LI Lo c) 04
PiecewiseFunction Answers for No.11397

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 18 | 16 | 14 | 12 | 10 | 8 | 6| -8 =71 -6 =51 -4 =31 =21 -1 0 | 1| 2| 3 4 5 |
Ans02 : f(x)| 3 3 3 3 3 3 3 3 3 3| 2 | 1| ol -1 9| 11 | 13 | 15| 17 | 19 | 21 |
Ans03
x+1 ox< 1
f(x):[ }
2x-1 ; x> 1
f(-2)=-1, ,f(-1)=0, ,f(0)=1, ,f(1)=N4, ,f(3)=-7
Ans04
1-x x< -2
f(x)= 3 ; 2<=x<3
2x+2 x> 3
f(-2)=3, ,f(0)=3, ,f(2)=3, ,f(3)=N4, ,f(4)=10
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-5 |  undefined | 1 1 1 | Discontinuous |
-4 | 2 2 | 2] 2 | Continuous
-3 | undefined | infinity | infinity | infinity | Discontinuous |
9 | 4| | 1] 1 | Discontinuous |

X [Page = 0018] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXKXXXXXKXKXXXXXKXKXKXXKXKXKXKXKXKXKXKXKKXKXKXKKKXKXKXKXKX KX KKK KKK XKXKK KK XXX KX KKK KX KX KKK KX KXKKKKXKXK



DGR R D'6:0.6:0:0.0:0.:0:0:0.6:0:0.0:0.:0:0:0.0:0:0:0:0.0:0:0.0:0:0:0:0.0:0.0.0:0.°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.00.0.0:0.0:0:0.6:0.0.0:0.:0:0.0:0.0:0:0.0.0.0.0.0.0:0:0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.6:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA LI [ LA N R I O N ) ¢
PiecewiseFunction Answers for No.11456

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -24 | -22 | -20 | -18 | =16 | -14 | -12 | =10 | -8 | -6 | 2 1 0 | -1 | -2 | -3 | -4 | -5 | -6 | =7 | -8 |
Ans02 : f(x)| 1] 1| 1| 1| 1| 1| 1| i1 -1 -3 =51 =71 -9 | NA | 1| 2 | 3 4 | 5 | 6 | 71
Ans03
2x+3 ;o x< -2
f(x){
—1-x ; x>=-2
f(-4)=-5, ,f(-3)=-3, ,f(-2)=1, ,f(2)=-3, ,f(4)=-5
Ans04
—1-x x< -2
f(x)= 1 ; 2<=x<2
2x+3 x>=2
f('4):3a ’f('z):la 7f(1):1’ 7f(2):7’ af(3):9
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-9 | 3 3 3 3 | Continuous
-6 | 2 2 2] 2 | Continuous
1 4 | 1 1 1 | Discontinuous |
7 5 | 3 3] 3 | Discontinuous |

X [Page = 0019] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXKXXKXKXXXXXKXKXXKXXXKXKXKXKXKXKXKXKXKXKXKXKXKXKXKKKXKX KKK KK KX KKK KK KX KX KKK KX KKK X KKK KX KX KKK KX KXKKKKXKXK



DGR SR D 6:0.6:0:0.0:0.0:0:0.6:0:0.0:0:0:0.0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.00.0.0:0.0:0:0.60.0.0:0.:0.:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | (YRR T [ LA N R 010 J0 1240) ¢
PiecewiseFunction Answers for No.11496

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 15 | 13 | 11 | 9 | 7 5 3| 1 -1 | -3 | -5 | =7 1 -9 | 8 | 9 | 10 | 11 | 12 | 13 | 14 | 15 |
AnsO02 : f(x)| -13 | -12 | -11 | =10 | -9 | -8 | -7 | NA| -6]|] -6| -61] -6 -9 | -11 | -13 | =15 | =17 | =19 | =21 | =23 | =25 |
Ans03
2x+3 ; x< -1
f(x)z[
x+2 ;x> -1
f(-3)=9, ,f(-1)=N4, ,f(1)=3, ,f(3)=5 ,f(4)=6
Ans04
2-x x<=-]
fix)={2x+2 ; -1 <x<1
4 N x> 1
f(-3)=1, ,f(-2)=0, ,f(-1)=-1, ,f(1)=N4, ,f(2)=4
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -8 | undefined | 2 | 2 | 2 | Discontinuous
-4 | 2 | 2 | 2 | 2 | Continuous
-2 | 0 | 2 | 2] 2 | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous
12 | 3 3 3 3 | Continuous

X [Page = 0020] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXKXKXKXKXXXKXKXKXXXKXKXKXKXKXKXKXKXKXKXKXKKXKXKXKKKXKXKKKK KKK KKK KKK XXX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGR D’ 6:0.6:0:0.0:0.:0:0.6:0:0.0:0.0:0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.6:0.0.0:0.0:0:0.6:0.0.0:0.0:0.:0.0:0.0:0:0.6 0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA LI [ LA N R I L LA D704
PiecewiseFunction Answers for No.11509

x| -101] -9 -8 -7 =61 -5 =41 =3 =21 =11 0] 11 21 31 41 5] 61 71 8 | 9 1 10 |
Ans01 f(x) | 8 | 71 6 | 5 4 | 3 2 1 0 | -1 | -2 | -3 | -4 | 71 9 | 11 | 13 | 15 | 17 | 19 | 21
Ans02 : f(x)| 7 7 7 7 7 7 7 7 | NA | 6 | 5 | NA | 9| 11 | 13 | 15| 17 | 19 | 21 | 23 | 25 |
Ans03
x+3 sox< -1
f(x):[ }
2x-3 ; x>=-]
f(-4)=-1, ,f(-2)=1, ,f(-1)=-1, ,f(0)=-3, ,f(4)=-11
Ans04
2x-2 x<=-2
fix)={ x+1 ,; -2<x<1
2 N x> 1
f(-4)=6, ,f(-3)=4, ,f(-2)=2, ,f(-1)=0, ,f(1)=N4
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-7 | 2 | 2 | 2 | 2 | Continuous
-4 | 2 2 | 2 | 2 | Continuous
1 | 4 | 1 1 1 | Discontinuous |
11 | 1| 1] 1] 1 | Continuous

X [Page = 0021] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXKXKXXXKXKXKXKXXKXKXKXXKXXXKXKXKXKXKXKXKXKXKXKXKKKXKXKXKKKXKXKXKXKX KX KKK KK KX KX KKK KX KKK X KKK KX KX KKK KX KXKKKKXKXK



DGR D 6:0.6:0:0.0:0.0:0:0.6:0:0.0:0.0:0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.6:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0 0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA LI [ LA N R0 Je 1275794
PiecewiseFunction Answers for No.11539

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 15 | 14 | 13 | 12 | 11 | 10 | 9 | 8 | 7 6 | 5 | 4 | 3| 9 | 11 | 13 | 15 | 17 | 19 | 21 | 23 |
AnsO2 : f(x)| -9 -8 -7 -6 =51 -4 | -3 -2 -1/ 6 | 4 ] 2| ol =21 =21 =21 =21 =21 =21 =21 =2
Ans03
2x+2 ; x<=1
f(x){
x—1 ;x> 1
f(-4)=10, ,f(-3)=8, ,f(-2)=6, ,f(1)=0, ,f(2)=1
Ans04
0 : x< -2
fix)=| x+2 ; -2<=x<2
2x-1 x>=2
f('3):0’ ,f(-2):0, ,f(O):Z, ,f(2):-5, 7f(3):'7
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -7 | 2 | 2 | 2 | 2 | Continuous
-3 |  undefined | infinity | infinity | infinity | Discontinuous |
1 4 | 1] 1] 1 | Discontinuous |
5 | 2 2 | 2 | 2 | Continuous
7 5 | 3 3] 3 | Discontinuous |

X [Page = 0022] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXXXXKXKXXXKXKXKXKXXKXKXKXKXXXKXKKKXKXKXKKKXKKXKXKXKXKKXKXKXKKKXKX KKK KKK XKXKKKXKX KX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGR RN 6:0.6:0:0.0:0.:0:0:0.6:0:0.0:0.:0:0:0.0:0:0:0:0.0:0:0.0:0.0:0:0.:0.0.0:0.°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.:0.6:0.0.0:0.00.0.0:0.0:0:0.6:0.0.0:0.0:0.:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.6:0.0.0:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA LT [ LA N R 010 J0 135) ¢
PiecewiseFunction Answers for No.11585

x| -101] -9 -8 -7 =61 -5 =41 =3 =21 =11 0] 11 21 31 41 5] 61 71 8 | 9 1 10 |
Ans01 : f(x)| 6 | 5 4 | 3 2 1 0 | -1 | -2 | -3 | -4 | NA | 0 | 2 4 | 6 | 8 | 10 | 12 | 14 | 16 |
Ans02 : f(x)| -5 -5| -5 -5| -5 -5 -5 -5 =3 ] -1/ 1] 3| 51 -2 | -3 -4 -51 -6 =71 =81 -9
Ans03
2x-3 ; x< -2
f(x):[ }
x—2 ;x> -2
f(-2)=N4, ,f(0)=-2, ,f(2)=0, ,f(3)=1, ,f(4)=2
Ans04
-4 ; x< -3
fix)={ x-1 ; -3 <x<=1
2x+1 ; x> ]
f(-3)=N4, ,f(-2)=-3, ,f(-1)=-2, ,f(0)=-1, ,f(1)=0
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-10 | 1 2 | 2 | 2 | Discontinuous |
3 1 5 | 3 3] 3 | Discontinuous |
11 | 1] 1 1 1 | Continuous
12 | 3 3 3 3 | Continuous

X [Page = 0023] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXXKXXKXKXXKXXKXKXKXXKXXXKXKXKXXKXKXKXKXKKXKXKXKXKKXKXKXKKKXKX KKK KKK XKXK KKK XXX KKK KX KKK X KKK KX KX KKK KX KXKKKKXKXK



DGR SR D'6:0.6:0:0.0:0.::0:0.6:0:0.0:0.:0:0:0.0:0:0:0:0.0:0:0.0:0.0:0:0.:0.0.0:0.°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.00.0.0:0.0:0:0.6:0.0.0:0.:0:0.0:0.0:0:0.0.0.0.0.0.0:0:0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.6:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA LT [ LA N R I JO I2.X/579¢
PiecewiseFunction Answers for No.11593

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -23 | -21 | -19 | -17 | =15 | =13 | -11 | -9 | =7 | -5 | -3 | -1 | NA | -6 | =7 | -8 | -9 | =10 | -11 | -12 | -13 |
Ans02 : f(x)| 9 | 8 | 7 6 | 5 | 4 | 3| -101] -8 -6 -4 1] -2 | NA | 0| 0 | 0 | 01 0 | 0 | 0 | 0 |
Ans03
2x-3 ; x< -]
f(x){
—1-x ; x> -1
f(-2)=-7, ,f(-1)=N4, ,f(0)=-1, ,f(1)=-2, ,f(3)=-4
Ans04
x—2 : x< -1
f(x)= -3 ;, -l<=x<3
2x+1 x>=3
f(-2)=-4, ,f(-1)=-3, ,f(0)=-3, ,f(1)=-3, ,f(3)=-5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-8 |  undefined | 2 | 2 | 2 | Discontinuous
-3 | undefined | infinity | infinity | infinity | Discontinuous |
5 | 2 2 | 2 | 2 | Continuous
11 | 1| 1] 1] 1 | Continuous

X [Page = 0024] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXXKXKXKXXXXKXKXKXXXKXKXKXKXKXKKKXKKXKXKXKKKXKXKXKKKXKXKXKKKX KX KKK KKK XXX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGR SR AD'6:0.6:0:0.0:0.:0:0:0.6:0:0.0:0.:0:0:0.0:0:0:0:0.0:00.0:0.0:0:0.:0.0.0:0.°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0:0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.:0.:0.0:0.0:0:0.0 0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA EL T [ LA N R 010 J0 12355704
PiecewiseFunction Answers for No.11633

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -15 | -14 | -13 | -12 | -11 | =10 | -9 | -8 | =7 | -6 | -5 | -4 | NA | =10 | =12 | -14 | =16 | =18 | =20 | =22 | =24 |
Ans02 : f(x)| 1] 1| 1| 1| 1| 1| 1| 1| 2 3| 4 ] 5 | 6| -4 -6 | -8 -10 | -12 | -14 | -16 | -18 |
Ans03
2x+1 ; x<=2
f(x>=[
l-x , x>2
f(-3)=-5, ,f(0)=1, ,f(1)=3, ,f(2)=5 ,f(4)=-3
Ans04
1-x x< -2
fix)=] 3 ; 2<=x<3
2x—-1 x>=3
f('3):4a ,f(-2)23, 7f(0):3’ 7f(1):3’ af(3):5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-9 | 3 3 3 3 | Continuous
1 4 | 1] 1] 1 | Discontinuous |
5 | 2 2 | 2 | 2 | Continuous
8 | 4 | 4 | 2 | DNE | Discontinuous |

X [Page = 0025] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXXXXKXKXXXKXKXKXKXXKXKXKXKXXXKXKXKXXKXKXKKKXKXKXKXKXKKXKXKXKKKXKX KKK KKK XKXKKKXKX KX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGR D 6:0.6:0:0.0:0.::0:0.6:0:0.0:0.0:0:0.0:0:0:0:0.0:00.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.:0.0.0:0.0:0.0.0:0.0.0:0.00.0.0.0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.:0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.6:0.0:0:9.0:0.0.0:0.0:6:0.0 ¢ | (YA LT [ LA N R I Je 1215 04
PiecewiseFunction Answers for No.11636

x| -0} -9 -8 -7 -6 -5 -4 =31 -2 -1]1] 0 | 1] 2 | 3 | 4 | 5 | 6 | 7 8 | 9 | 10 |
Ans01 : f(x)| -14 | -13 | -12 | -11 | -10 | -9 | -8 | =7 1 -6 | -5 | -4 | -3 | NA | -5 | =7 | -9 | -11 | =13 | =15 | =17 | -19
Ans02 : f(x)| 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | NA | 2| 4 | 6 | 8| NA| -2 -3| -4 -5 -6 =71 -89
Ans03
3-x ; x<=-]
f(x){
2x+2 ; x> -1
f(-3)=0, ,f(-2)=-1, ,f(-1)=-2, ,f(0)=2, ,f(4)=10
Ans04
-1 K x< -1
fix)=| 2-x , -I1<=x<2
2x-3 x>=2
f('l):'17 ,f(O):-Z, af(l):'37 ,f(2):1, ’f(4):5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-9 | 3 3 3 3 | Continuous
-3 | undefined | infinity | infinity | infinity | Discontinuous |
7 5 | 3] 3 3 | Discontinuous |
12 | 3 3 3 3 | Continuous

X [Page = 0026] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXXXXKXKXXXKXKXKXKXXXKXKXKXXXKXKXKXKXKXKXKXKXKXKXKXKKXKXKXKKKXKXKXKKKKXKXKXK KKK XXX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGR RN’ 6:0.6:0:0.0:0.:0:0:0.6:0:0.0:0.:0:0:0.0:0:0:0:0.0:0:0.0:0.0:0:0.0:0.0.0:0.°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.:0:0.0:0.0:0:0.0.0.0.0.0.0:0:0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.6:0.0.0:0.0.0:9.0:0.0.0:0.0:6:0.0 ¢ | [ YA LI [ LA N R I [ I D ¢
PiecewiseFunction Answers for No.11650

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -12 | -11 | =10 | -9 | -8 | =7 1 -6 | 3 11 -1 | -3 | -5 | =7 | -9 | -11 | -13 | =15 | =17 | =19 | =21 | =23 |
Ans02 : f(x)| 7 6 | 5 | 4 | 3 2 | 1| NA | 0 | 0 | 01 0 | 2 4 | 6 | 8 | 10| 12 | 14 | 16 | 18
Ans03
l-x ; x<2=-2
)=
2x-3 ; x>=-2
f('3):4’ 7f('2):'7’ af(l):'la ’f(3):37 ’f(4):5
Ans04
x+1 N x< -3
f(x)={-2x-3 ,; -3 <x<1
-5 N x>=1
f(-3)=N4, ,f(1)=-5 ,f(2)=-5 ,f(3)=-5 ,f(4)=-5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-5 |  undefined | 1 1 1 | Discontinuous |
-4 | 2 2 | 2] 2 | Continuous
-3 | undefined | infinity | infinity | infinity | Discontinuous |
-2 0 | 2 2 | 2 | Discontinuous |

X [Page = 0027] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXXXXKXKXXXKXKXKXKXKXKXKXKXXXKXKXKXXKXKXKKKXKXKXKXKKKXKXKXKK XK X KKK KKK XKXK KKK XXX KKK KKK XXX KKK KX KX KKK KX KX KKK KXKXK



DGR SR D 6:0.6:0:0.0:0.0:0:0.6:0:0.0:0:0:0.0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.00.0.0:0.0:0:0.60.0.0:0.0:0.:0.0:0.0:0:0.0.0.0.0.0.0:0:0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA EL T [ LA N R 010 J0 124 :) ¢
PiecewiseFunction Answers for No.12273

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 f(x) | 19 | 17 | 15 | 13 | 11 | 9 | 7 5 3| 1 -1 | -3 | -5 | =7 | 0 | 1| 2 | 3 4 | 5 | 6 |
Ans02 : f(x)| 2 2 | 2 2 | 2 2 | 2 2 | 3 4 | 5 6| -3 -5 -71 -9 | -11 | -13 | -15 | =17 | -19
Ans03
—x+3 ; x<1
f(x):[ }
2x-3 ; x> 1
f(-4)=7, ,f(-1)=4, ,f(1)=N4, .f(2)=1, ,f(3)=3
Ans04
-4 ; x<=-3
fix)=} x-1 ; -3 <x<=2
2x-3 x> 2
f(-4)=-4, ,f(:3)=-4 ,f(-2)=-3, .f(2)=1, ,f(4)=-11
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -10 | 1| 2 | 2 | 2 | Discontinuous
-9 | 3 3 3 3 | Continuous
-5 | undefined | 1] 1| 1 | Discontinuous |
5 | 2 2 | 2 | 2 | Continuous
12 | 3 3 3 3 | Continuous

X [Page = 0028] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXKXKXXXXXKXKXKXXXKXKXKXKXKXKXKXKXKXKXKXKKXKXKXKK XXX KKK KKK XKXKKKXKX KKK KKK XXX KX KKK KX KKK KKK XKXKKKKXKXK



DGR SR D 6:0.6:0:0.0:0.0:0:0.6:0:0.0:0.0:0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.00.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0:0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA LT [ LA N R 010 J0 122°) 94
PiecewiseFunction Answers for No.12356

x| -101] -9 -8 -7 =61 -5 =41 =3 =21 =11 0] 11 21 31 41 5] 61 71 8 | 9 1 10 |
Ans01 : f(x)| 9 | 8 | 7 6 | 5 | 4 | 3| 2 11 0 | -2 | 0 | 2 4 | 6 | 8 | 10 | 12 | 14 | 16 | 18
Ans02 : f(x)| -15 | -13 | =11 | -9 | -7 1] -5 =3 | -1 1| 3 | 3 | 3| -3| -4 -5 -6 -7 -8 -9 -10 | -11 |
Ans03
2x+3 ; x<=-]
f(x){
x+3 ;x> -1
f(-1)=5, ,f(0)=3, ,f(1)=4, ,f(3)=6, ,f(4)=7
Ans04
—~x+3 x< -1
fix)=| 9 ;-1 <x< 3
2x+3 x> 3
f(-4)=7, ,f(-3)=6, ,f(-1)=N4, ,f(2)=9, ,f(3)=NA
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-11 | -2 | 1 1 1 | Discontinuous |
-10 | 1] 2 | 2] 2 | Discontinuous |
-9 | 3 3] 3 3 | Continuous
3 5 | 3 3] 3 | Discontinuous |

X [Page = 0029] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXKXKXKXKXXXKXKXXKXXXKXKXKXXKXKXKXKXKXKXKXKXKKXKXKXKKKXKX KKK KKK XKXKX KKK XXX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGR D 6:0.6:0:0.0:0.:0:0:0.6:0:0.0:0.:0:0:0.0:0:0:0:0.0:0:0.0:0:0:0:0.0:0.0.0:0.°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.:0.:0.0:0.0:0:0.0.0.0.0.0.0:0:0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.6:0.0.6:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA LT [ LA N R0 Je Ic10) ¢
PiecewiseFunction Answers for No.12585

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 21 | 19 | 17 | 15 | 13 | 11 | 9 | 71 -6 | -5 | -4 | -3 | -2 | -1 | 0 | 1| 2 | 3 4 | 5 | 6 |
Ans02 : f(x)| 2 | 2 | 2 2 | 2 2 | 2 2 | 2 0| -2 1] NA | 7 8 | 911 10 | 11 | 12 | 13 | 14 | 15 |
Ans03
x—2 cox< -2
f(x):[ }
2x+2 ; x> -2
f(-2)=N4, ,f(-1)=4, ,f(1)=0, ,f(2)=-2, ,f(4)=-6
Ans04
-5 ; x<=-1
fix)={2x-3 ; -1 <x<1
2-x x>=]
f('l):'sa af(o):'37 ’f(l):'3’ ,f(2)2-4, ’f(3):'5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -10 | 1| 2 | 2 | 2 | Discontinuous
-9 | 3 3 3 3 | Continuous
1 4 | 1] 1] 1 | Discontinuous |
9 | 4 | 1 1 1 | Discontinuous |
11 | 1| 1] 1] 1 | Continuous

X [Page = 0030] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXXKXKXKXXXXXKXKXKXXXKXKXKXKXKXKXKXKXKXKXKKKXKXKXKKKXKXKXKKKXKXKXKKKXKX KX KKK KX KKK X KKK KX KX KKK KX KX KKK KXKXK



DGR D’ 6:0.6:0:0.0:0.:0:0:0.6:0:0.0:0.:0:0:0.0:0:0:0:0.0:0:0.0:0.0:0:0.:0.0.0:0.°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.00.0.0:0.0:0:0.6:0.0.0:0.:0.:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA EL T I LA N R I [ ICH D704
PiecewiseFunction Answers for No.12667

x| -0} -9 -8 -7 -6 -5 -4 =31 -2 -1]1] 0 | 1 2 3 4 | 5 | 6 | 7 8 | 9 | 10 |
Ans01 : f(x)| -11 | -10 | -9 | -8 | =7 | -6 | -5 | -4 | -3 | -2 | -1 | 0 | 11 -9 | -11 | -13 | =15 | =17 | =19 | =21 | =23 |
Ans02 : f(x)| 24 | 22| 20| 18 | 16 | 14 | 12| 10| -3 | -3 1| -3 =31 -21 -11] 0 | 1] 2 | 3 4 | 5 | 6 |
Ans03
2x+2 ; x<2
f(X)=[
x—1 ;ox> 2
f(-4)=10, ,f(-3)=8, ,f(2)=N4, ,f(3)=2, ,f(4)=3
Ans04
2x-2 x< -3
fix)=] -8 ; -3 <x<=3
-2-x x> 3
f(-4)=-10, ,f(-3)=N4, ,f(0)=-8, ,f(1)=-8 ,f(3)=-8
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-10 | 1 2 | 2 | 2 | Discontinuous |
3 1 5 | 3 3] 3 | Discontinuous |
7 5 | 3] 3 3 | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous

X [Page = 0031] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXKXXKXKXXKXXXKXKXKXXXKXKXKXXXKXKXKXKXKXKXKXKKXKXKXKKKXKXKXKKKXKXKXK KKK XXX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGR D 6:0.6:0:0.0:0.:0:0:0.6:0:0.0:0.:0:0:0.0:0:0:0:0.0:0:0.0:0.0:0:0.:0.0.0:0.°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:0:0.0:0.0:0:0.0 0.0.0.0.0:0:0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.6:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA EL T I LA N R [0 I 123704
PiecewiseFunction Answers for No.12678

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -11 | -10 | -9 | -8 | =7 | -6 | -5 | -4 | 3| 1 -1 | -3 | -5 | =7 | -9 | -11 | -13 | =15 | =17 | -19 | =21
Ans02 : f(x)| -4 1 -4 | -4 -4 | -4 -4 | -4 -4 -4 NA| =-51] -6 2 4 | 6 | 8 | 10| 12 | 14 | 16 | 18
Ans03
—x+3 ; x<=2
f(x):[ }
2x+2 ; x> 2
f('4):7a ’f('z):sa 7f(0):3’ 7f(1):2’ 7f(2):1
Ans04
x+3 x<=-1
fix)={-2x+1 ; -1 <x<=3
-5 N x> 3
f(-4)=-1, ,f(-1)=2, ,f(0)=1, ,f(3)=-5 ,f(4)=-5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-4 | 2 | 2 | 2 | 2 | Continuous
3 1 5 | 3 3] 3 | Discontinuous |
8 | 4 | 4 | 2 | DNE | Discontinuous |
9 | 4| 1 1 1 | Discontinuous |
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DGR R AD'6:0.6:0:0.0:0.0:0:0.6:0:0.0:0.:0:0:0.0:0:0:0:0.0:0:0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:0.:0.0:0.0:0:0.0 0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:6:0.0 ¢ | [ YA LTI LA N R Je I 1) ¢
PiecewiseFunction Answers for No.12690

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -21 | -19 | -17 | =15 | -13 | -11 | -9 | =7 1 -5 | -3 | -1 | 1 -1 | -2 | -3 | -4 | -5 | -6 | =7 1 -8 | -9
Ans02 : f(x)| 15| 14 | 13 | 12 | 11 | 10 | 9 | 8 | 7 6 | 6 | 6 | 6 | 3 | 5 | 7 9 | 1] 31 15| 17 |
Ans03
B+x ; x<-I
f(x)z[
2x-3 ; x> -1
f(-4)=-7, ,f(-3)=-6, ,f(-1)=N4, ,f(0)=-3, ,f(2)=-7
Ans04
x+1 : x<=-]
f(x)= 0 ;o -l <x<=1
2x+1 x> 1
f(-1)=0, ,f(0)=0, ,f(1)=0, ,f(3)=-5 ,f(4)=-7
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -8 | undefined | 2 | 2 | 2 | Discontinuous
-5 |  undefined | 1 1 1 | Discontinuous |
-4 | 2 2 | 2 | 2 | Continuous
5 | 2 2 | 2 | 2 | Continuous
10 | 0 | 0 | 0 | 0 | Continuous
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DGR D 6:0.6:0:0.0:0.0:0:0.6:0:0.0:0.:0:0:0.0:0:0:0:0.0:00.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0.0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:0:0.0:0.0:0:0.0 0.0.0.0.0:0:0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.6:0.0.6:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA LI [ LA N R I JO I T/579:¢
PiecewiseFunction Answers for No.12696

x| -101] -9 -8 -7 =61 -5 =41 =3 =21 =11 0] 11 21 31 41 5] 61 71 8 | 9 1 10 |
Ans01 : f(x)| -15 | =13 | -11 | -9 | =7 | -5 | -3 | -1 | 11 3 5 | 7 | NA | 0 | -1 | -2 | -3 | -4 | -5 | -6 | =7 |
Ans02 : f(x)| -17 | -15 | -13 | -1 | -9 | -7 | -5 -3| -3 -3| -3 -3| -3 -4 -5 -6/ =71 =81 -9 ]| -10 | -11 |
Ans03
x—1 sox< -2
f(x):[ ]
2x+3 ; x>=-2
f(-4)=-5, ,f(:3)=-4, ,f(-2)=7, ,f(-1)=5, ,f(2)=-1
Ans04
2x+2 x<=-]
f(x)={ x-2 ; -1 <x<3
1 N x>=3
f(-4)=10, ,f(-1)=4, ,f(0)=-2, ,f(2)=0, ,f(3)=1
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -6 | 2 | 2 | 2 | 2 | Continuous
2 | 4 | 2 | 4 | DNE | Discontinuous |
9 | 4 | 1] 1| 1 | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous
11 | 1| 1] 1] 1 | Continuous
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DGR R AD'6:0.6:0:0.0:0.:0:0:0.6:0:0.0:0.:0:0:0.0:0:0:0:0.0:00.0:0:0:0:0.0:0.0.0:0.°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.:0.6:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:0.:0.0:0.0:0:0.6 0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:6:0.0 ¢ | [ YA LT I LA N R J0 I 155704
PiecewiseFunction Answers for No.12777

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 25 | 23 | 21 | 19 | 17 | 15 | 13 | 11 | 9 | 71 5 | 3 11 5 6 | 71 8 | 9 | 10 | 11 | 12 |
Ans02 : f(x)| -24 | -22 | -20 | -18 | -16 | -14 | -12 | -10 | 1| ol -1 -2 1 =31 -4 -4 1| -4 -4 -4 -4 | -4 -4
Ans03
2x-3 ; x<=1]
f(x){
x+3 ;x> 1
f(-2):1, 7f('1):'1’ af(l):'sa ,f(2):5, ’f(3):6
Ans04
1 N x< -2
flx)=|-1-x ,; -2<=x<=2
2x+1 x> 2
f(-2):1, af(o):'la ’f(l):'za ,f(2)2-3, ’f(4):9
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -10 | 1| 2 | 2 | 2 | Discontinuous
-9 | 3 3 3 3 | Continuous
-2 | 0 | 2 | 2] 2 | Discontinuous |
1 4 | 1 1 1 | Discontinuous |
9 | 4| 1 1 1 | Discontinuous |
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DGR D 6:0.6:0:0.0:0.:0:0:0.6:0:0.0:0.:0:0:0.0:0:0:0:0.0:0:0.0:0.0:0:0.0:0.0.0:0.°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.00.0.0.0.0:0:0.60.0.0:0.0:0.:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:6:0.0 ¢ | [ YA LI [ LA N R I JO I 1) 04
PiecewiseFunction Answers for No.12785

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 15 | 14 | 13 | 12 | 11 | 10 | 9 | 8 | 7 6 | 5 | NA | 6 | 8 | 10 | 12 | 14 | 16 | 18 | 20 | 22 |
AnsO2 : f(x)| -5 -5 -5| -5 -5 -5 =51 =51 -5 =3 | -1]1] i1 -6 -7 -81 =9 | -10 | -11 | -12 | -13 | -14 |
Ans03
2x+3 ; x<2
f(x){
x+3 ; x> 2
f(-3)=-3, ,f(-2)=-1, ,f(2)=N4, ,f(3)=0, ,f(4)=-1
Ans04
1 ;. x<=-2
f(x)={ x+3 ,; -2<x<1
2x-2 x>=1
f('4):1’ af('3):17 ’f('z):la 7f(0):3’ 7f(1):'4
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -2 | 0 | 2 | 2 | 2 | Discontinuous |
2 | 4 | 2 | 4 | DNE | Discontinuous |
7 5 | 3] 3 3 | Discontinuous |
9 | 4 | 1 1 1 | Discontinuous |
12 | 3 3 3 3 | Continuous

X [Page = 0036] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXKXKXKXXXKXKXKXXKXXXKXKXKXXKXKXKXKXKXKXKXKXKKXKXKXKKKXKX KKK KK KX KKK KKK XXX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGR RN 6:0.6:0:0.0:0.:0:0:0.6:0:0.0:0.:0:0:0.0:0:0:0:0.0:0:0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.:0.6:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:0.:0.0:0.0:0:0.0 0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.6:0.0:0:0.6:0.0.0:0.0:6:0.0 ¢ | [ YA EL T I LA N R I [ I 94
PiecewiseFunction Answers for No.13085

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 6 | 5 4 | 3 2 1 0 | -4 | -2 | 0 | 2 4 | 6 | 8 | 10 | 12 | 14 | 16 | 18 | 20 | 22 |
Ans02 : f(x)| -18 | -16 | -14 | =12 | =10 | -8 | -6 ]| -4 | -4 -4 -4 -4 -4] NA| -9 -10 | -11 | =12 | -13 | -14 | -15 |
Ans03
-1-x ; x<=-2
f(x){
2x-2 ; x> -2
f(-4)=3, ,f(-2)=N4, ,f(-1)=-4, ,f(2)=2, ,f(4)=6
Ans04
-2 ; x< -2
fix)={2x+2 ; -2 <x<1
2-x x> 1
f('4):'2> ’f('z):NA’ ,f(-l)IO, ,f(O):Z, ’f(l):NA
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -8 | undefined | 2 | 2 | 2 | Discontinuous
-7 | 2 | 2 | 2 | 2 | Continuous
2 4 | 2 4 | DNE | Discontinuous |
3 5 | 3] 3 3 | Discontinuous |
9 | 4| 1 1 1 | Discontinuous |
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